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MRS BGEE BIEHE R 2 1 SESE REFIEEE(TT)
09561039 |shE X KREITZE SRERIAT 23 35,136,125
09561039 |shLE+AREBI T EEEE BN 19 23,000,000
09561039 |SAE T KEIT % SREBINENFT 15 13,552,000
= o B A SR = Sy + ==

09561039 |BhAE+AREIT % ggﬁ’“%“"gﬁ*iﬁ%ﬁﬁi 12 35,387,000
09561039 |aLE+AB T EEEE T AR 4 4,831,000

- SRR s ARG
09561039 |3AE+AKE T %ZJT&%%%“E%@* 2 1,960,000

ar.

09561039 |BLE+ABI T AV E Y 3 Y 2 1,799,000
09561039 |shE L AKREBI T EESEREHKAE 1 2,358,000

- HEERREERHESZE T HEHEE

= Gl

09561039 |2hE+AE T pepatasilie 1 553,000
79 118,576,125
54548287 EIE=EHEAT EmmEERAMN 10 7,885,340
54548287 EIE=EHEAT RERBRIE 8 11,245,000
54548287 EIE=EHEAT RBEHANEBEEELIEEELER 7 50,509,000
54548287 |EliE=EAR AT EERMBAE 5 11,311,000
54548287 ElZZEHR AT EFHmTtREAFT 4 6,452,000
54548287 BIREEBR AT EFmEREBAM 3 4,448,500

= oo B M o O Sy + a
54548287 | Bl IRAT ggﬁmﬁ%tﬁaﬂ(ﬂ%ﬂ%%h 3 2.887.000
54548287 BliE=EARAD Emmmg B AT 3 2,387,774
54548287 EIE=EHEEAT RERBMEENRN 3 1,457,000
54548287 |BlEEEANR AT EmmBEBR A 3 1,287,000
54548287 |BlEEEANR AT Emml EEART 3 1,110,000
54548287 BlE=EARAT EFMZEBEAF 2 3,955,000
54548287 EIE=EHEAT EmmRUE AR 2 1,576,000
54548287 EIE=EHEEAT EmmEBE AR 2 964,680
54548287 |BlEEEANRAT == YNG 2 960,000
54548287 |BlEEEANR AT EmmEHEART 2 954,900
54548287 |EIE=EHEAT Emm_EZEAMN 2 864,000
54548287 EIE=EHEAT EERBIK AR 2 855,800
54548287 EIE=EHEEAT EEMBRLES 1 16,960,000
54548287 EIZ=EHEAT EmE{EE AP 1 1,690,000
54548287 |EIE=EHEAT EmmABEAR 1 1,374,000
54548287 Bl =EAEAT EMMKEEAF 1 780,000
54548287 |EIE=EHEAT REBREIBHAR 1 745,000
54548287 |BliEZ=EAREAT BEEBNHE AT 1 498,000
54548287 EIZ=ZEHEAT BEEBAMBELR 1 399,000
54548287 BliEZ=EAMRE AT EmmEHEAR 1 348,000
74 133,903,094
53968562 |ERE=EARE AT thEmFEE AR 21 63,551,500
53968562 |EEIESRAT WEHIBEE A 11 84,310,000
53968562 |EXZEEHFRAT EHEEE AR 7 29,399,000
53968562 |EX=EHEAT BN IBBEE—EEELRRE 6 86,882,000
53968562 |EHEEARAT TG 4 49,396,000
53968562 |EREEANR AT EEEIEYNG 3 22,476,200
53968562 |2 =EEANRE AT TR 2 44,046,000
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B REnE REaE BIEHE2E SIEHH REFIEEE(TT)
53968562 |EEEZEFRE AT hEmREEE AR 2 3,511,000
53968562 EREEAIRAT KEFETRAM 1 28,654,000

3 53968562 |EREIEANR AT hEmHEE AR 1 21,457,000
53968562 |EEZEFR AT ER B EKED 1 18,926,000
53968562 |EEEZEFR AT thEm R IEE AR 1 11,685,000
53968562 |EEEZEFRE AT IR TTERE AR 1 8,980,000
53968562 EEEEAIRAT HEHAER AR 1 6,935,000
53968562 |EEZEFR AT BRFEf = E TS 5 1 3,388,000
53968562 |2 M EEARAT BB A 1 2,486,000
53968562 |2 HEEARAT BB 1 2,400,000
53968562 |EEZEHFR AT MR Y s N 1 1,688,000
53968562 |EEZEFR AT IR ETHEE AR 1 1,380,000
53968562 | 2R EEARAT SEEAEER 1 525,000

att 68 492,075,700
84805847 | (BREEAIRAT IR 15 16,773,000
= o e M e =y + n
84805847 |{EREEHRAT ggﬁmﬁ%tﬁamiﬁ%%@i 15 16,410,000
84805847 |ER=EAMR AT HEIRBRESH AR 5 8,670,000
84805847 |RIR=EHEAT ISR IKE AR 4 2,695,000
T e B o = &y ==
84805847 | (B VEREAIRAT g;ﬁ‘“ﬁﬁ%xﬁa*iﬁ*ﬁ 36 3 16,090,000
84805847 |ER=EAMR AT MEIRRIEEENR 3 8,501,000

4 84805847 |RR=EHEAT MEIRBRELEENMTN 3 5,896,000
84805847 |BREZEHR AT MEIRBRBEM AR 3 3,630,000
84805847 |RIR=EHEAT RBENEERE _mEElRE 2 36,170,000
84805847 |EIR=EAMRAT BRI 2 6,530,958
84805847 |ElR=EAMR AT EmmEBFKFE 2 6,479,321
84805847 |BREEHR AT MEIRBRLCEM AR 2 4,180,000
84805847 |RIR=EHEE AT mEISBEIRm AR 2 1,930,000
84805847 (BREEARAT ExHELBAMR 1 6,350,000

att 62 140,305,279
23853085 | BAREEFRE AT EMERILAT 21 47,754,700

= o S A S = Sy + i

23853085 | A BEEAR AT g%ﬁmﬁ%?ﬁamiﬁh%@x 15 15,546,300
23853085 A REEARAT EREBEG 5 10,730,000
23853085 |BIEEEAIR AT B ANBARETEEETRRE 3 49,750,000
23853085 A REEAMRAT mE T 25 3 17,248,000
23853085 | &R =EAR AT EMBZR G T AFR 3 3,822,000

5 23853085 | BAIR=EEBEAT EMBREEEAF 2 9,180,000
23853085 | BIR=EEHBEAT EMEEM A A BT 2 7,698,000
23853085 | BIR=EEHEAT RBENEERE _EaE 1 RE 1 11,188,888
23853085 | BiE=EANR AT T ERKFZB ST B 1 4,080,000
23853085 | BAREEARE AT EMBREEHMARR 1 2,230,000
23853085 1 BAREEHREAT EMBRERMAFR 1 1,299,000
23853085 | &R =EARE AT EMERIEEANF 1 1,046,000
23853085 | BIR=EHAEAT EMEIFEEARR 1 965,000

att 60 182,537,888
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BR| mEis BGEE BIEHE R 2 1 SESE REFIEEE(TT)
41298602 BRI AG % EECG 13 9,857,000
41298602 |fH4ELTREITZE SEMMEEAFT 5 4,906,000
41298602 |fH4ELTKEITZE REBEM AR 5 3,247,300
41298602 |BE T ABT % SR B B 4B A T 5 2.762,000
41298602 |BRE T ABT % REBRET AR 4 3,188,000
41298602 |fHL4ELTREITZE REZHE AP 3 1,937,000
41298602 |fH4ELTREITZE BERBRELMAFR 2 4,050,000
41298602 |BE T ABT % R AR 2 1,534,000
41298602 |{HiELTREITZE RS IRA A B 2 995,000
41298602 |{HiELTKREITZE B BRIER AR 1 5,028,000
41298602 |fB4ET KRBT RBEHNEBAEE_EEE IR 1 4,840,000
41298602 |BRE T ABT % EE e NG 1 3,820,000

6 (41298602 |H4E T ARG L% BRTXEB AR 1 2,460,000
41298602 |EELTAREI T R BAE WA AFT 1 2,380,000

7= Th [ e e o = + ==

41298602 B+ AE T % ggﬁmﬁ%tﬁgmiﬁ%%gﬁ 1 1,290,000
41298602 | BT ABTE RGBSR 1 1,126,000
41298602 |EELAREBI T REBRIEH AR 1 1,010,000
41298602 |fH4ELTREITZE RESZSE AT 1 818,000
41298602 |BETABTE B/ BEAR 1 690,000
41298602 |fH4ETKEITZE =) Eah e (N 1 585,000
41298602 |fB4ELT KRBT SEHERB NPT 1 576,000
41298602 |fH4ETKREITZE EERBRN M AFR 1 548,000
41298602 |fH4ELTREITZE BN EFIREEF 1 484,000
41298602 |fH4ELTKREITZE REGEBEAR 1 217,000
&t 56 58,348,300

84507137 |BMEEARAT =BT 28 105,168,000

o TH S BB X e = Ay + o

84507137 | EBMEEARAT ggﬁm)ﬁ%tﬁa7ki1%%r)%ﬁﬁ?x 5 11,610,000
84507137 | EBEMEEANRAT EMEE GNP 4 4,419,000
84507137 |BEMEEHREAT EEEMEHKNE 3 6,750,000
84507137 | BMEEHRAT = S A B 3 3.349,000
7 84507137 | BMEEANRAT EMEI S AR 3 2,086,000
84507137 |(BEMEEANRAT EMBMRAE A BT 2 11,499,000
84507137 |(BMEEANR AT EMBEREEAR 2 3,602,000
84507137 | BEMEZEHBEAT EMBRLTEENR 2 1,310,000
84507137 | BMEIEANRAT EMER KA A FR 1 1,627,000
84507137 |BEM=EAEAT EMB _FEAR 1 1,175,000
84507137 |BEMEEHRAT EMB TR AT 1 1,135,000
ai 55 153,730,000

54062875 |shi¥=EAE AT EmmEBBRE AN 7 2,862,400
54062875 |shi¥=EiEHEAT EEmEAEAR 5 2,332,800
54062875 | 2hsr & EHRAT] EETAEB AN 4 1,052,800
54062875 |shi¥=EARE AT EmmiZ & AT 4 1,646,800
54062875 |shi¥=EARE AT EmmtiREAR 4 1,621,600
54062875 |shi¥=EAERE AT EmmBEl_BAM 4 1,181,600
54062875 |shi¥=3EARE AT =S NEBAFT 3 2,542,800
54062875 |2hitEEHRAT] BT TBAR 2 916,800
54062875 |shi¥=EARE AT EmmEHEAR 2 864,800
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BR BERE A E TBEHEE B8 BEHE REFIEEE(TT)
54062875 |ahs¥ B EARAT) EMmARNB AR 2 856,000
3 54062875 |5hitEEHERE AT EFHARELF 2 764,000
54062875 |5hitEE AR AT EmitF& AP 2 681,000
54062875 |5hi¥EEHRE AT Emm=EE& XM 1 1,550,000
54062875 |5hi¥EE AR AT EEmEEBAF 1 798,600
54062875 |5hitEE AR AT EFmEEEAFT 1 706,800
54062875 |5hitEE AR AT EmmAE& AR 1 660,000
54062875 |ShE¥EEHR AT EEHBEKEAF 1 656,000
54062875 |5hi¥EE AR AT EFMEEE QN 1 450,000
54062875 |5hi¥EEHRE AT EmmilE&E A 1 416,800
54062875 |shi¥=iEAE AT EFHEEBAFT 1 406,800
54062875 |ShE¥EEHR AT EFHMEBAFT 1 352,000
&5t 50 24,220,400
53172255 |FIREEHRE AT EmmaE A 9 6,771,000

= o B M S =2 + a
53172055 | EIEEEAIRAT ggl‘mﬁixﬁé‘miﬁ%%ﬁﬁk 5 5,293,000
53172255 |FEIBEEEANR AT EFHAEB AR 4 3,985,000
53172255 | FEBEEARAT BEEBRZOMART 4 1,439,000
53172255 |FIBEEARAT EFMBELIER 3 47,047,000
53172255 | EBEEAR AT EmmEKE AT 3 2,143,800
53172255 | FBEEIEANRAT EHERENFT 3 1,965,000
53172255 |EIZRZEEHE AT EmmEERE AN 3 1,213,000
7= o e M o = + ==

53172255 | EIBEEEREAT g%ﬁm%ﬁ?ﬁgmﬂ%ﬂ%gﬁ 2 3,040,000
9 |53172255 |FIREERRAT BEEBTIGH AR 2 2,980,000
53172255 | #IEEEBRAT EMmE IR AR 2 1,970,500
53172255 | B EARAD EE%EBUT 2 1,285,500
53172255 | FEEEBRAT EEHAFHAR 1 1,220,000
53172255 | FBEEBRAT EMmEEER AR 1 1,214,000
53172255 | FIEEEBRAT EMMZEBAMR 1 820,000
53172255 | B EEARAT E@mmELEARR 1 615,000
53172255 | FBEEBEAT E@mymB AR 1 570,000
53172255 | F B EEBRAT EmmeEABARR 1 470,000
53172255 | FBEEBRAT EMmEERAMR 1 325,000
53172255 | Z B EEARAT Ef@miig & A 1 317,000
a3 50 84,683,800
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1,388,381,486
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